
8.3  Modeling Periodic Behavior 

HW p. 313 #1-15,19 

 
 
 
 
 
1.  Write and equation for the graph. 
 
a)             b)  
 
 
 
 
 
 
 
 
c)          d)  
 
 
 
 
 
 
 
 
 
2.  Sketch the graph 
 

a) 𝑦 = 2 cos
1

2
𝑥 − 2     b) 𝑦 =  −4 sin
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2
(𝑥 + 𝜋) 

 
 
 
 
 
 
 
 
 
 

c) 𝑦 = 2 cos
𝜋

2
(𝑥 − 2) + 1    d) 𝑦 =  −3 sin
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4
(𝑥 + 𝜋) − 1 

 
 
 
 
 

General Sine and Cosine Equations 
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Part 2 

1.  The depth of water at the end of a pier varies with the tides throughout the day.  Today the high tide 
occurs at 4:15 a.m. with a depth of 5.2 m. The low tide occurs at 10:27 a.m.  with a depth of 2.0 m. 
 
a) Find a trigonometric equation that models the depth of the water t hours after midnight.  
 
 
 
             
             
             
             
             
         
 
 
 
 
b) Find the depth of the water at noon. 
 
 
 
 
c) A large boat needs at least 3 m of water to moor at the end of the pier.  During what time period after 
noon can it safely moor? 
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